E—Dr aghi | ev' s net hod

NameVec (n, V):=|V=0
for iel..n
V.= V.

=i
\Y

Draghilev[F(l), X0, t,t

[D:= 0 n=rows (eval (F(X0)) J=matrix(n, n)]

X:=NameVec (2-n+1, X
Xl:=submatrix(X, 1, n, 1, 1)
X2:=submatrix(X, n+2, 2.n+1, 1, 1)
for iel..2n+1
if i<(n+1)
mi= X1
if i<(n+1)

2= Xne1
el se

0
for iiel..n

for jjel..n
d

r:=rkfixed[stack(X0, 1, X0), ty, ty N, D(t , _x)]

(Vi=col (r, n+2) DM=0 i =1)
for kel..length(V)-1
i f [Vk>°]"[Vk+1<°]V[Vk<°]"[vk+1>°]V[Vk=0]
for je2..n+1
P=col (r, j)
P

kv

-P
-V

k+1
k+1

P \%

DMi j—1:= K™
i=0i+1

el se

0

eval (DM

I ar e (PO - X, 1 FO
- ]
X
Di:=|J|
el se
Di =0
Dny1= Dpsa
D(t, X=-D

Draghi | ev' s net hod. Exanpl es.
Vi achesl av N. Mezent sev,
vi achesl avnezent sev@nmi |l . com

F(X)= [x:= X, y= x2]

2 2
X +y -8
sin(x-y) sin(exp(x-y))
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for mel.. 101
[/A\=24/E| @=2H(m—1)100_1]
[xc =Asin() ye :=Acos (w)]

X0:=st ack (2. 784, - 0. 5) tmn=0 t max=15 N:= 200
R=Draghilev(F(X), X0, tmin, tmax, N k=rows(R k=53 X=col (R, 1) Y:=col (R, 2)




